C\A,(-a\sﬁ%aw/z /7?5 s 57 I8 [9;’5 7{//%@7;%
U . - .

C?O%j'mj ;

— N wea scaweneds A =/ 57 <
Uovii alolte A

- D"i%ou/_ biees % wid [l AJ

— (ous Pt s éﬁww

— )Qléac( s e ferneree how — well AP (=)

/5) v ot o Tle A et

Note 1. o ack bii A e LK e

— J < [ ‘ A7/ Flee
Ne e ber @/% 0t #c d/ 4 Slowd X
be /<//> Cxy)

/ot . — :
| Aﬁffz’ ‘ /th/ Cobvw%s on La gLl b/m
<howtd  be 7/7.;0%%7‘ 7 @

oo /5 S lsem  Var wble .




0S-2

/"\
Al
\ ERlaY
L WY T -
L S —
,M-é. -1 e ‘ >
~ Lons O Coutervek on X

KO\

7=
o B/(? CO NS Fveceon A @cﬁemﬁ a as

0bs - Teeory
L Z)f/ﬂ zﬂmmta/ﬁv /3 A feec fel & /Z’VM




J = # ‘75 g%/ﬂééaf bins

7 Srecrnts
g ConsTrec

pudVe  COUcuet it 74»/’1/1/( % jz’

2.
[ Ay — N fg(ki)]

J
v 2 !

aS

S NP )
N i [ ong =N /)( ]
= o md
\.‘(;m@ 7@? // D Sgen Viff/wﬂcz/é(e/,)
L); - — /\//Q/X' = A,

yaviance = AL
/"é’ /




— L 2 ‘ol ?7[ /\//ﬂ (<) 1 Cluosew
(/?/(_L«[i@ JL&LL?@Q e /ij o/ /’f/ ; W e IMecot
L) = -1 y S VU e Ll /u:oowf’. ) 7({2 (ML/

e Ve (cete co ) = K P ()

,/>2
So we enpee et (//@,)ﬁei L ﬁéwm/@

;- WW  aviae e (75 4/ z o &@JC.&?M éj
’721,@ %/Z 0/&5/&/%%/3%4
B g | /7 4
e S fachan o e

s L . - / ‘
[ S i bee o /i calles Tl
P - Stafnshe




50

| -l x : 1 | T

40 | /) |
5 3L . -
] ) -.
g b |
E — L
o ¢ .
5 20 — —
D
=
o} .. ]
Zz

10 — |

0 Il . ] | i L

0.0 2.0 4.0 8.0 10.0
. _
FIGURE 4.1

Histogram, drawn from a Gaussian distribution mean . = 5.0 and standard deviation o = 1,
corresponding to 100 total measurements. The parent distribution y(x;) = NP(x;) is illustrated by the
large Gaussian curve. The smaller dotted curves represent the Poisson distribution of events in each
bin, based on the sample data.



